One Up Offroad

Fixed Traction Bar Installation

Ifyou have Adaptable Bars go to the Adaptable bar installation.
The Fixed Bar installation is not the same as the Adaptable Bar installation.

All One Up Offroad Parts are for racing use only. They are not for highway use. They may not be
legal in your state. This is a common policy in our industry. Many motor and suspension mods
say this in the fine print, we choose to do in big print before you buy the parts. All One Up Offroad
Parts are built at higher standards then typical light duty truck parts and are much stronger then
the OE parts they replace. While not indestructible, these parts are designed to last the life of the
truck they are installed on. The owner / driver of the vehicle assumes all responsibility for
misusing these parts or operating a vehicle with One Up Offroad Parts installed on it. We cannot
control how the parts will be installed, who installs them our how the end user operates a vehicle
with the products installed on them. If you purchased these parts and were not informed of this or
you are not comfortable with this policy please return the unused products in new condition for a
refund.

We assume that you have mechanical ability and have worked on a truck before. If you have not
worked on a truck before, and drilling holes or replacing a rear axle scares you, then please take
your truck to a shop and have the work done. If you get your truck apart and can't get it back
together it will be stuck where you disassembled it. A picture is worth a thousand words but take
the time to read the steps. If you do it wrong, the system will not work correctly, the ride will be
harsh & your time & money will be wasted.

Page 1 One Up Offroad 2/4/2009
Not For Highway Use!



st £

i ed [

Clear Area

64" Bars Frame Clearance.

Traction Blocks, Weld On Rear Mounts and Bolt On Rear Mounts mixed with different lift heights
produces slightly different rear mounting locations. This affects your front mounting locations. Be
sure this area is clear on your frame before you order the fixed bars.

For 72" fixed bars you will need the clear area to be 82" and 67.5” forward of the axle tube.

If it is close, order the adaptable bars. We build the Adaptable Bars to be sure this variance is not
an issue. Do you really want to pay freight both ways to exchange them?

Fixed Length Short Gusseted Bars

In all systems install the rear mounts system first. If you don’t have the rear finished,
See Traction Block and Axle Mounts Installation, get the rear done and then start here.
With your truck on the ground at ride height. Your trucks NOT in the air, all the weight on the
suspension, go to the next step.

1% Measure the fixed bars

T Fixed Bar Length 1

Fixed bar length is from the center of the hole in the back of the bar to the end of the bar with the
threads in it. Look close at where the arrows point in the diagram.

Page 2 One Up Offroad 2/4/2009
Not For Highway Use!



Hold or clamp the front bracket to the frame
and set the distance between the measuring points.
This distance is the fixed bar length plus 7/8"

Fixed Bar Length
+ 7/8" for the Compressed
Front Bushing Thickness

With the forward pivot held in position, \ B /
with the correct distance between the measuring points,
mark the holes thru the mount on the frame.

DETAIL A Forward measuring point DETAILL B

is this side of the flat face

the bushing goes against. Rear measuring point

is the center of this bushing.

3", Pre-mount Frame Brackets to Frame Rail.

Notice OUO logo position pointing to the rear of the truck in the image below. The brackets are
unique to drivers & passengers side. Be sure to check on both sides of the frame to see that the
bolts will clear the Iltems on the inside of the frame. Protect the fuel lines inside of the frame with
wood or some other material to stop the drill bit from cutting the fuel line. This is so you don’t
damage them when drilling from the outside. Mark the hole drill locations in the frame thru the
holes in the mount.

Trucks with boxed frames get 3/8-24 grade 8 bolts and washers and the frame will need to be
drilled 5/16” and taped 3/8-24 to eliminate the need to put nuts on the backside. Do not torque the
bolts over 15ftlbs, that will pull the threads out of the frame. Be sure these fit and all the holes
line up and take them back off the frame.

AU

Page 3 One Up Offroad 2/4/2009
Not For Highway Use!



If your system has an open frame it should be a thru bolt application Drill the Holes thru the frame
to 3/8” Be sure these fit and all the holes line up and take them back off the frame.

0

4™ Install rear of bar with Red Lock Tight on the ¥2-13 grade 8 hardware.
Torque to 80 ft Lbs.

5™ Install the pivot mount to the front of the traction bar, Put the washer on the Lock Tight coated
bolt first and then put on the smaller black bushing. Slide this assembly thru the hole in the pivot
mount with the OUO logo pointing to the back of the truck. The bigger bushing goes between the
traction bar and the pivot mount. Tighten the 7/8 bolt into the traction bar until it stops turning.

Page 4 One Up Offroad 2/4/2009
Not For Highway Use!



4™ Move the bar assembly into position on the frame and clamp the pivot mount to the frame in
position. Take care not to scratch the pivot mount. This will be a little of a challenge and the
angles will not be perfect, this is normal, the bushing is designed to work with miss alignment.
You will have to deflect the bushing to get it tight against the frame with force from your clamping
to align the holes. Put Red Lock-Tight on the 3/8-24 Bolts. Then get one bolt started in a hole but
don't tighten the fastener, start another bolt and so on until you have all the bolts in, started but
not tightened.

—

If you have a boxed frame, torque the Bolts to 18ftlbs Starting and 5ftlbs then 12ftlbs then 18ftlbs
to be sure you don’t over torque any one bolt pulling the threads out of the frame.

If your system has an open frame torque the nuts on the bolts to 18ftlbs

Recheck & final tighten the hardware. Tighten the 7/8 bolt into the traction bar until it stops
turning. Tighten bolt 7/8” 125 ft-Ibs of Torque.

If you have any problems with the install contact us before you get too frustrated and we will help
get you back on track quickly. We would rather you spend 5 minutes on the phone with us then
make a mistake on the install. If something is not going as the instructions direct then get contact
a dealer or us right away. No problem is too small.

Page 5 One Up Offroad 2/4/2009
Not For Highway Use!




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /SyntheticBoldness 1.00
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /FRA <>
    /ENU (Use these settings to create PDF documents with higher image resolution for improved printing quality. The PDF documents can be opened with Acrobat and Reader 5.0 and later.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308000200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e30593002537052376642306e753b8cea3092670059279650306b4fdd306430533068304c3067304d307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


